Test 11
Part Ⅲ Listening Comprehension (35 minutes) 
Section A 
　　Directions: In this section, you will hear 8 short conversations and 2 long conversations. At the end of each conversation, one or more questions will be asked about what was said. Both the conversation and the questions will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C) and D), and decide which is the best answer. Then mark the corresponding letter on Answer Sheet 2 with a single line through the center. 
11.(A) Because she didn’t like the color.

(B) Because it was too small.

(C) Because it was too large.

(D) Because it was too expensive.

12. (A) Getting another ticket at the door.

(B) Waiting for the man at the door.

(C) Exchanging the ticket for a better one.

(D) Trying to sell the ticket.

13. (A) He will work for his father.

(B) He will take another examination.

(C) He will choose another school.

(D) He will study at college.

14. (A) To see Professor Green.

(B) To see the film.

(C) To buy some books.

(D) To give a lecture.

15. (A) Clean up her room.

(B) Get the report back.

(C) Not wait for him.

(D) Not bother to get the umbrella.

16. (A) Something happened to her car.

(B) She couldn’t afford the bus.

(C) She got up too late to catch the bus.

(D) Her car got stuck on the highway.

17. (A) She is at home. 

(B) She is at the store.

(C) She went for a walk

(D) She is getting a newspaper.

18. (A) Spain

(B) Sweden.

(C) Britain.

(D) Switzerland.

Questions 19 to 22 are based on the conversation you have just heard.
19. A) The benefits of strong business competition. 
　 B) A proposal to lower the cost of production. 
　 C) Complaints about the expense of modernization. 
　 D) Suggestions concerning new business strategies. 
20. A) It cost much more than its worth. 
　　B) It should be brought up-to-date. 
　　C) It calls for immediate repairs. 
　　D) It can still be used for a long time. 
21. A) The personnel manager should be fired for inefficiency. 
　 B) A few engineers should be employed to modernize the factory. 
　 C) The entire staff should be retrained. 
　 D) Better-educated employees should be promoted. 
22. A) Their competitors have long been advertising on TV. 
　 B) TV commercials are less expensive. 
　 C) Advertising in newspapers alone is not sufficient. 
　 D) TV commercials attract more investments. 
Questions 23 to 25 are based on the conversation you have just heard. 
23. A) Searching for reference material. 
　 B) Watching a film of the 1930s'. 
　 C) Writing a course book. 
　 D) Looking for a job in a movie studio. 
24. A) It's too broad to cope with. C) It's controversial. 
　 B) It's a bit outdated. D) It's of little practical value. 
25. A) At the end of the online catalogue. 
　 B) At the Reference Desk. 
　 C) In The New York Times. 
　 D) In the Reader's Guide to Periodical Literature. 
Section B 
Directions: In this section, you will hear 3 short passages. At the end of each passage, 
　　you will hear some questions. Both the passage and the questions will be spoken 
　　only once. After you hear a question, you must choose the best answer from the 
　　four choices marked A), B), C) and D). Then mark the corresponding letter on 
　　Answer Sheet 2 with a single line through the center. 
Passage One 
　　Questions 26 to 28 are based on the conversation you have just heard. 
26. A) Synthetic fuel. C) Alcohol. 
　 B) Solar energy. D) Electricity. 
27. A) Air traffic conditions. C) Road conditions. 
　 B) Traffic jams on highways. D) New traffic rules. 
28. A) Go through a health check. C) Arrive early for boarding. 
　 B) Take little luggage with them. D) Undergo security checks. 
Passage Two 
　　Questions 29 to 31 are based on the conversation you have just heard. 
29. A) Beauty. C) Luck. 
　 B) Loyalty. D) Durability. 
30. A) He wanted to follow the tradition of his country. 
　 B) He believed that it symbolized an everlasting marriage. 
　 C) It was through that a blood vessel in that finger led directly to the heart. 
　 D) It was supposed that the diamond on that finger would bring good luck. 
31. A) The two people can learn about each other's likes and dislikes. 
　 B) The two people can have time to decide if they are a good match. 
　 C) The two people can have time to shop for their new home. 
　 D) The two people can earn enough money for their wedding. 
Passage Three 
　　Questions 32 to 35 are based on the conversation you have just heard. 
32. A) Because there are no signs to direct them. 
　 B) Because no tour guides are available. 
　 C) Because all the buildings in the city look alike. 
　 D) Because the university is everywhere in the city. 
33. A) They set their own exams. 
　 B) They select their own students. 
　 C) They award their own degrees. 
　 D) They organize their own laboratory work. 
34. A) Most of them have a long history. 
　 B) Many of them are specialized libraries. 
　 C) They house more books than any other university library. 
　 D) They each have a copy of every book published in Britain. 
35. A) Very few of them are engaged in research. 
　 B) They were not awarded degree until 1948. 
　 C) They have outnumbered male students. 
　 D) They were not treated equally until 1881. Section C 

Part ⅣReading Comprehension（Reading in Depth）
Section A
Directions:In this section,there is a passage with ten blanks.You are required to select one word for each blank from a list of choices given in a word bank following the passage.Read the passage through carefully before making your choices.Each choice in the bank is identified by a letter.Please mark the corresponding letter for each item on Answer Sheet 2 with a single line through the centre.You may not use any of the words in the bank more than once.
Questions 47 to 56 are based on the following passage.

There's no question that the Earth is getting hotter. The real questions are: How much of the warming is our fault, and are we 47 to slow the devastation by controlling our insatiable 48 for fossil fuels?
     Global warming can seem too 49 to worry about, or too uncertain—something projected by the same computer 50 that often can't get next week's weather right. On a raw winter day you might think that a few degrees of warming wouldn't be such a bad thing anyway. And no doubt about it: Warnings about 51 change can sound like an environmentalist scare tactic, meant to force us out of our cars and restrict our lifestyles.
     Comforting thoughts, perhaps. Unfortunately, however, the Earth has some discomforting news.
     From Alaska to the snowy peaks of the Andes the world is heating up right now, and fast. Globally, the 52 is up 1°F over the past century, but some of the coldest, most remote spots have warmed much more. The results aren't pretty. Ice is 53 , rivers are running dry, and coasts are 54 , threatening communities.
     The 55 are happening largely out of sight. But they shouldn't be out of mind, because they are omens of what's in store for the56 of the planet.
A. remote  B. techniques  C. consisting  D. rest  E. willing
F. climate  G. skill  H. appetite  I. melting  J. vanishing
K. eroding  L. temperature  M. curiosity  N. changes  O. skillful
Section B
Directions:There are 2 passages in this section.Each passage is followed by some questions or unfinished statements.For each of them there are four choices marked A）,B）,C） and D） .You should decide on the best choice and mark the corresponding letter on Answer Sheet 2 with a single line through the centre.
Passage One
Questions 57 to 61 are based on the following passage.
California is a land of variety and contrast. Almost every type of physical land feature, short of arctic ice fields and tropical jungles can be found within its borders. Sharply contrasting types of land often lie very close to one another.
People living in Bakersfield, for instance, can visit the Pacific Ocean and the coastal plain, the fertile San Joaquin Valley, the arid Mojave Desert, and the high Sierra Nevada, all within a radius of about 100 miles. In other areas it is possible to go snow skiing in the morning and surfing in the evening of the same day, without having to travel long distances.
Contrast abounds in California. The highest point in the United States (outside Alaska)is in California, and so is the lowest point (including Alaska). Mount Whitney, 14 494 feet above sea level, is separated from Death Valley, 282 feet below sea level, by a distance of only 100 miles. The two areas have a difference in altitude of almost three miles. 

California has deep, clear mountain lakes like Lake Tahoe, the deepest in the country, but it also has shallow, salty desert lakes. It has Lake Tulainyo, 12 020 feet above sea level, and the lowest lake in the country, the Salton Sea, 236 feet below sea level. Some of its lakes, like Owens Lake in Death Valley, are not lakes at all; they are dried-up lakebeds.
In addition to mountains, lakes, valleys, deserts, and plateaus, California has its Pacific coastline, stretching longer than the coastlines of Oregon and Washington combined. 

57. Which of the following is the lowest point in the United States?
A. Lake Tulainyo   B. Mojave Desert   C. Death Valley   D. The Salton Sea  

58. Where is the highest point in the United States located?
A. Lake Tahoe   B. Sierra Nevada   C. Mount Whitney   D. Alaska

59. How far away is Death Valley from Mount Whitney?
A. About 3 miles   B. Only 100 miles   C. 282 feet   D. 14 494 feet  

60. Which of the following is not mentioned in the passage as being within a radius of about 100 miles of Bakersfield?
A. The Pacific Ocean   B. San Joaquin Valley   

C. Mojave Desert      D. Oregon and Washington  

61. Which statement best demonstrates that California is a land of variety and contrast?

A. The highest lake in California is Lake Tulainyo

B. It is possible to go surfing and snow skiing in some parts of California without having to travel long distance
C. Sierra Nevada, San Joaquin Valley, Mojave Desert and the Pacific Ocean all lie within a radius of about 100 miles 

D. Owens Lake, in Death Valley, is not really a lake at all 

Passage Two
Questions 62 to 66 are based on the following passage

Insects have inhabited the earth for well over 300 million years, and during that time they have evolved into an almost unbelievable variety of species. The astronomical numbers involved in any discussion of the insect world are difficult for the imagination to grasp. There are probably more than a million different species of them, compared with a mere 20,000 species of all other animals, and according to the best estimates roughly 1018 individual insects are living at any given time.

Most insects are completely harmless to man, and many are directly beneficial. Only about one-tenth of one percent of the insect world consists of species harmful to man, but throughout human history there have been a persistent even more important, insects are man’s principal competitors (indeed his only serious competitors) for food. Nearly 40 percent of the world’s food crops are destroyed by insects each year.

The battle against harmful insects has been fought for thousands of years but man has never gained more than a transitory advantage. Whenever man has concentrated in significant numbers and practice any form of agriculture, the insect populations are on record from as far back as 1000 B.C. An easy balance has occasionally been abandoned to the insects in hopes that the remaining yield would be sufficient offer for human needs. Whenever various circumstances, including man’s own mismanagement of the environment, have upset this balance and allowed the insect population to explode, the result has been a graphic demonstration of man’s inability to attain mastery over insects.

The methods employed to control the growth of undesirable insects can be more than a temporary solution to the insect problem. But an integrated approach utilizing combinations of these methods can keep insect populations down to a point where faming remains economical. No method, however, offers any hope that unwanted insects will ever be eliminated altogether.

62. According to the passage, there are probably more than _______ different species of insects.

A.1,018    B.20,000    C. a million    D. 300 million

63. Which one of the following is NOT true?

A. Most insects are beneficial, but some are completely harmful to man

B. Insects transmit many infectious disease to man.

C. A large percentage of food crops are destroyed by insects each year.

D. Insects have evolved very quickly during the last 300 million years.

64. The word “transitory” (Para.3) in the passage means ________.

A. eternal   B. temporary    C. great   D. a little

65. According to the passage, we can achieve occasional balance________.

A. If we give up practising any form of agriculture

B. If we give up a certain percentage of each crop to insects

C. If we make great efforts to reduce insect populations like what we did in 1000 B.C.

D. If we allow the insect population to explode

66. According to the fourth paragraph, ________.

A. we have method to control insects

B. we can eliminate the unwanted insects altogether

C. we can keep insect populations down by using the combinations of methods

D. we have no hope of controlling the unwanted insects at all

Part Ⅴ Cloze

Directions:There are 20 blanks in the following passage.For each blank there are four choices marked A),B),C) and D) on the right side of the paper.You should choose the ONE that best fits into the passage.Then mark the corresponding letter on Answer Sheet 2 with a single line through the centre.

Most people have no idea of the hard work and worry that gosintosthe collecting of those fascinating birds and animals that they pay to see in the zoo.  
One of the questions that is always asked of me is __1__ I became an animal collector in the first __2__ . The answer is that I have always been interested in animals and zoos. According to my parents, the first word I was able to say with any __3__ was not the conventional “mamma” or “daddy”,__4__ the word “zoo”, which I would __5__over and over again with a shrill __6__ until someone, insgroupsto __7__ me up, would take me to the zoo. When I __8__ a little older, we lived in Greece and I had a great __9__ of pets, ranging from owls to seahorses, and I spent all my spare time __10__ the countryside in search of fresh specimens to __11__ to my collection of pets.__12__ on I went for a year to the City Zoo, as a student __13__ , to get experience of the large animals, such as lions, bears, bison and ostriches,__14__ were not easy to keep at home. When I left, I __15__ had enough money of my own to be able to __16__ my first trip and I have been going __17__ ever since then. Though a collector’s job is not an easy one and is full of __18__ ,it is certainly a job which will appeal __19__ all those who love animals and __20__ .   
1. A.how        B.where       C.when           D.whether 
2. A.region          B.field         C.place             D.case  
3. A.clarity           B.emotion   C.sentiment        D.affection  
4. A.except           B.but         C.except for      D.but for  
5. A.recite            B.recognize    C.read               D.repeat  
6. A.volume           B.noise         C.voice             D.pitch  
7. A.close             B.shut          C.stop              D.comfort  
8. A.grew              B.was growing         C.grow              D.grown  
9. A.many              B.amount        C.number           D.supply  
10. A.living             B.cultivating      C.reclaiming      D.exploring  
11. A.increase         B.include        C.add                D.enrich     
12. A.later             B.further       C.then              D.subsequently  
13. A.attendant       B.keeper       C.member          D.aide  
14. A.who                B.they        C.of which          D.which  
15. A.luckily            B.gladly      C.nearly            D.successfully  
16. A.pay                 B.provide        C.allow               D.finance  
17. A.normally          B.regularly      C.usually             D.often  
18. A.expectations     B.sorrows       C.excitement       D.disappointments  
19. A.for                   B.with           C.to                    D.from  
20. A.excursion         B.travel         C.journey            D.Trip
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